;> restart
> SolucionGeneral = y(x) =C,-exp(2-x) + C,-cos(3-x) + C;-sin(3-x)
SolucionGeneral .= y(x) = C, &> + C,cos(3 x) + Cysin(3 x) 1)
_> Sistema = diff (SolucionGeneral, x), diff (SolucionGeneral, x$2 ), diff (SolucionGeneral, x
$3) : Sistemay; Sistema,; Sistema;
% y(x)=2C, e =3 C,sin(3x) +3 C;cos(3 x)
Fe

2V =4C ¢ —9C,cos(3x) —9 Cysin(3 x)

3
% y(x) =8 C e +27 C,sin(3 x) —27 C; cos(3 x) @)

_> Parametro = simpliﬁ/(solve( {Sistema}, {Cl, C,, C3}) ) : Parametro, Parametro,,
Parametr03;

X 2
C2=%7cos(3x) [%y(x)) +lcos(3x) (—y(x)) —%cos(3x) [%y(x))

1 & 4 (d .
+ 5 sin(3 x) (ﬁy(x)] - E (ay(x)) sin(3 x)
3 3
Cy= % sin(3 x) (%y(x)] + % (%y(x)) sin(3x) — % cos(3 x) (éy(x)] (&)
4 d 1 (& .
+ 5 cos(3 x) (Ey(x)) — 3 [Ey(x)) sin(3 x)

> Ecuacionlnicial == simpliﬁ/( subs( C,=rhs ( Parametro, ) , Cy=rhs ( Parametroz) , Gy
= rhS(Parametr03 ) , SolucionGeneral ) )

1 d 1 d 1 &
E onlnicial := = — = = _ 1 4 4
] cuacionlnicial :=y(x) TRE y(x) + Y dr y(x) 9 42 y(x) )]
> FEcuacionFinal = rhs(Ecuacionlnicial)-18 — lhs (Ecuacionlnicial) -18 =0
3 2
EcuacionFinal == d—3 y(x)+9 (i y(x)) -2 (d—z y(x)] —18y(x)=0 )
dx dx dx

> SolucionComprobatoria == dsolve( EcuacionFinal)
SolucionComprobatoria :=y(x) = _CI e?¥ + _C2sin(3x) + _C3cos(3x) (6)
> SolucionGeneral,
y(x) =C, e+ C, cos(3 x) + Cysin(3 x) W)

> with(linalg) :
> WW = wronskian([exp(2 x), cos(3 x), sin(3 x) ], x)

®)



e cos(3x) sin(3 x)

WW=| 2¢* -3sin(3x) 3cos(3x) ®
4 &** -9cos(3x) -9sin(3x)

> comprobacion = simplify(det(WW)) # 0
comprobacion =39 e %0 )



